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#Q. Arrange according to CFSE.
() [Co(NHj;),]** (ii) [Co(NHg)e]°* (iii) [Co(NH;)e]?* (iv) [Co(en)s]**
(iv) > (ii) > Giii) > (i)
(iv) > (iii) > (i) > (i)
(i) > (i) > (i) > (iv)
(i) > (i) > (iii) > (iv)

OO0 O

Ans. (A)
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#Q. Which of the following anion will not undergoes disproportionation?

000 O

(NCERT PAGE No — 244 Ex. No. — 7.5)
Clo;
Clo;
Clo;

Clo~

Ans. (A)
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CH,
Cro,Cl H,0’ NaHSO
#Q. — > A——— 5 ~> Product
CH,CI,
The product is
ONa OH
CH 2 CH 7
T~0SO.H T~ 0SO,Na
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Ans. (B)
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#Q. What is correct order of stability of carbocation.

@ ® @ @
10O we{@-eh G-k Ok

(a) (b) (c)‘ome  (d)‘CH,

a>b>c>d
c>a>d>b

a>c>d>b

000 O

c>b>a>d

Ans. (C)
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#Q. 200 mL of 0.2 M solution of NaOH is mixed with 400 mL of 0.5 M NaOH
solution. Molarity of mixture is:

Ans. (A)
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#Q. Given are two statements:
Statements |: Lassaigne test is used for detection of Nitrogen, phosphorous,
sulphur and Halogens.
Statements : Lassaigne extract is made with magnesium metal.

Q Both statements | & statements Il are correct.
e Both statements | & statements |l are incorrect.
G statements | is correct but statements |l is incorrect.

Q statements | is incorrect but statements Il is correct.

Ans. (C)
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#Q. Which one has two secondary Hydrogen atoms?

Q 2, 2, 4, 4—tetramethylheptane
(©) 2 2, 3, 4—tetramethylheptane
G 2, 2, 3, 3—tetramethyloctane

Q 3—ethyl-2, 4—dimethylpentane

Ans. (D)
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#Q. Compare dipole moment of:
(1) NF5 (11) CHCI, (1i1) H,S (1v) HBr

€Y isii>iii>iv
G izii>i>iv
O i>ii>iv>i
0O iisisivsi

Ans. (C)
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#Q. Ni*" + 2DMG >Complex

Nickel di methyl glyoxime complex has how many Hydrogen bonds?

Ans. 2
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#Q. In Ru and Nb, if in Ru, 4d electrons are x and in Nb, 4d electrons are y then
find the sum of x and .

Ans. 11
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#Q. R—Br + Mg—aether s A 1O s|sopentane
9 P

How many R—-Br can form isopentane?
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Ans. 4
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#Q. Correct structure of L-Glyceraldehyde is:

CHO CH,OH
Q H—I—OH G HO—-I—H
CH,OH CHO
CH,OH CH,OH
G H——OH Q H—I—CHO
CHO OH

Ans. (C)
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#Q. Identify the extensive and intensive property?

A
B
C
D

Mass, volume, conductivity — Intensive property
Mass, temperature, heat, volume — Extensive property
Mass, volume, Internal energy — Extensive property

Density, temperature, moles, Internal energy — Intensive property

Ans. (C)
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#Q. Among Group — 15 elements, what is the maximum covalency of an element
having weakest E—-E bond (E = element).

Ans. (B)
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#Q. Secondary butyl cyclohexanol when reacts with Br, in presence of sunlight

produce
Br. :
Oy\ —> Major Product?
Sunlight

Br Br

A B

o é ot
.
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C.H, » Single product
#Q
l 4 moles of H » Completely
Cat. hydrogenated
product

Find the number of & — electrons in C.H,.

Ans. 4
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#Q. What is the relation between Ky, and S of Zr; (PO,),.
(NCERT Equilibrium page no. — 204 part — 1)

1 1

Q s=G) Os-)

S = s Q None
C

Ans. (A)
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#Q. Consider the following statements 1 and statements 2 and choose the correct
option.
Statements I: During corrosion pure metal acts as anode and impure metal

acts as cathode.
Statements : Rate of corrosion is more in alkaline medium than in acidic

medium.

Q Both statements | & statements Il are correct.

G Both statements | & statements |l are incorrect.

G statements | is correct but statements |l is incorrect.
Q statements | is incorrect but statements Il is correct.

Ans. (B)

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



#Q. Match the column and choose the correct option.

wl G, |® G
® ), |@ C
@ G, [® =S
of G |© v
() A-PB-5,C-QD-R () A-PB-S,C-R D-Q
G A-P,B-R,C-Q,D-S Q A-Q,B-S,C-PD-R

Ans. (A)
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#Q. How many of the following homoleptic complexes are low spin.

[CoF¢]®, [Fe(CN)5(NO)]*, [Co(NH;)e]**,[Co(H,0)g] "

w ) =

OO0 O

N

Ans. (B)
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#Q. Which of the following converts into amine.

O
P) R—g—Nﬂz (1) KOH + RX followed by hydrolysis
(Q R—C=N (2) Sn/HCI
NO,
(R) (3)H,/Pd
(0)
I
(S) :NH (4) aq. NaOH, Br,, A
I
0]
Which of the following is correctly matched:
() P-1,Q-3R-2,5-4 () P-3Q-1,R-45-2
G P-1,0-2,R-3,S-4 Q P-4,Q0-3,R-2,S-1

Ans. (D)
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#Q. Which one gives prussian blue colour with Lassaigne’s test:

¢y NH,-NH, B /\NHz

JON 0 A

Ans. (B)
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